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AT EF RS
B ERE—=X0K

by BE
plus 2 and

Ak
minus

F 5
times g multiplied by

xﬁ; ‘Ejﬁ,
divided by

£
equal

) \
£ %

greater than
£

more than

N & | I e

y AL
/J\ =R
N

less than




hoi&

Pldc: NP T245=7 | » BEiGAW:
Two and five is seven.

£« &_Two plus five is seven.

£ 4_Two and five equals seven.

£ _Two plus five equals seven.

i

Pldr: PR T6—2=4 | » BFEAR:
Six minus two is four.

£« Z_Six minus two equals four.

ik

5] oy 2% PR SR 5 x2=10 | BIEAE
Five times two is ten.

£ _Five multiplied by two is ten.

g §_Five times two equals ten.

g &_Five multiplied by two equals ten.

BRi%

Plde: NP T10+2=5 | » BIEEAH
Ten divided by two is five.

g §_Ten divided by two equals five.

WE LR EE Ty UL R R R D

¥ 0% & A 37

Blde: AR T10+-4=2...1, > 3ipv s i

Ten divided by four is two remainder one.

ApFR T1I+1E S0, TT7 585500, fEHw

*EpFE> ¢ * Twhat, -~ Thowmuch; -

blded & deid ¢ eBlF 0 R T2 4527 0 LR

How much is two and five?
g« &_What is two and five?

% and » ¥ 2% plus
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Plde: NP R R T6—2=2, » BEFSAER,
How much Is six minus two?
g« %_What is six minus two?

Ao N PR TE X2 =2, » BIZiEAE,
How much is five times two?

£ %_What is five times two?

<Times » ¥ 123 1% multiplied by

What is five multiplied by two?

N

ldo: N T10>9 | 2 BIEIEAE

Ten is greater than nine.

m more than # i@ * X3 % B#cF chi 7

blde: T 2384 123, 0 HFFEAR:

One more than two is three.

%";k iR e 10 Sﬁ *< 9 Ef’lgt:%’): 7?—\;5 & ] .‘52’;3‘;? 1V 1;}%‘;;@
What number is ten more than nine?

INFR

Gl PR T9 <10, B EAR
Nine is less than ten.

FAPR T 10R ) 9endeF L5 00, 0 EET LEAR
What number is nine less than ten?

ZEn
blde: P66 EAp 2 M 2, > B3F A
Six is equal to six.
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% 1 3% 4~ %> ) Hce P)3F 3 (elementary arithmetic)

a. B F s E B
—EEEE > a7 SRBEBBIZSE » K|IBEBX -
24534 500 & AT 50 = -

S L ok i Mt S

T de- AL HE- B
BRERF - TH0R > UREG 295
FrHREY - fAR ERIFI0~ o

HPITEEBYES - B RNEL(EHE » MW:HKMFTET—B3 AN
SEX - Z2T7TmMH 199 ThABSE - ETMER 129 THIFEA
F-MmE 98 A » BE—HEEL/DEIR?

BEESPHEBARBED » LR TIRESERIVESSTE » 186
SH - EPARRBEARELEHIBE -

=8
O#E vty hp:d 23453+ ’t%flvéﬂzﬁ‘“ s
BR A E -
N & T
a3 Sz 1y,
10 3 6

3 3 2 1 5
2.(4c—) -G —3+2) =l )

3 3 2 1 5
3.(4c—— 9~ G+ =( )

3 3 2 1 5
LS i )
5.7.39-0.2 —-0.31 —2.004 + 1.2 — 0.45 =( ) o

6.(7.39 —0.2) — (0.31 — 2.004) + 1.2 — 0.45 =( ) ©
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1% ~ 8 dcahe PlEE Y

7.42%x20—-03x72—21+1.6=2=( ) o
8.6§xi+3+4+13x5+1=( ) o

8 17 3 8 2

3 3 5 5 1
9.6§x(5+3)+(4+5x5+5)=( ) o
10.22x32+3x2>x32=( ) o

8 5 7 8

I LR B R T 82
RETUBE - EFTERETUN LS  BEAEERET
Ao EEAL  ELEHHEREARELTANES -

11~13. FIRBEZFIHK T RRFEHER o
11.1200 ZFHENE - BIBRA—RR 475 BH > AL

RA—RE 15.25 27 BESXREREEA T/ NBREN

B30 2 R o FEAMEHIB T 30 K18 0 BB —IBATER

%0 HERSARNER  BH TS OER(E 31 XFHE

AR AEH)

( JEFt
12.88E— AWMt > THERBRIKR  1TH - DMER

BEN - AMERETIX . ANETE - — AHMEHR
o BET SV R ERH L

( JN:!
1B.EFFE 52 RFDF > BEIAT 1.08 RFHIAFR - &

0.5 R fF—&PE » HEFT 8K > BAIAT 3.14 RFH

HF o BFREZDORTHNDF?

( /Ny
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b, & #c /| B e %

BER > HMSA/NEREE > 100.1 =pVE - B2 » HMLE
A8 4K o Bilt - BENFRNHHEOER > TUSHE
RRTE FHOHE -

INEEA D
EIZERAVNE » SBEMRLEVNEL o $190:0.1 ~ 0.625 » INERETR
R EEHR2T LT - B4 WERBDUBIEBE » HEHE
#=09/)\81(51%0:0.33333-+°) » SRR B2 B R ABLE8/NE(H
90:EEER:3.14159--) o S22 TRV B RAISAI/NE TR o
SRR » QBE—@E+94I o (6190:0.1 ~ 0.7) » BIT]{ER D &
LL10 A9 8~ T MHFELF o

(Wmﬁiz%\a7—7)

1 ~ 10
SINEE%  B—E+HUN—BEH AL o (HI1490:0.12 « 0.45) »
AIo[{ERk D &L 100 A9 8 ~ T4 - BHUEFE/ELF

({§U§U:0.12 — 12 0.45 = 4_5)

100 100

SRR B—EtHUN—@ED L~ —BF»4L-

(f5140:0.123 ~ 0.456) » BITI{LEK D &L 1000 BHAE ~ +5
I~ B s THOUEFFAF -

: _ 123 _ 456
(61%0:0.123 = —— ~ 0.456 = —=)

VILLERHE » BRMUEEBR UL A TGFNEBER DB -

BHE D » —R—KREEMASFEP > Hl10:1.7 » 785 10
RHELL ~ NIRRT DU —HRADF » B % ‘ ﬁm%ﬁ?%lllo o
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S BB L, EEEA/NENEY » EEBEERT 1.7 8
m1m07%WMaﬁ%m%ﬁﬂﬁéﬁﬂ+%=1%o
Blan:3.2 FEX 31 0.2 X 0.2 = % » B1)3.2 = 3% o

mEANETE LEEEASHEGHRER » SPFZ2MEAR °

NGB T

(1B 0125 LBHBR L - AN ER—FTH
A8 o

( )2.4%2.25 ﬂ:’%ﬁ%{m- 0

( )3.B/B—E/E= 0.333-- > ﬂgﬁjzﬁgz%lio o

( )41T5EBIEBE

1000
127 155
()5.0.28 1 1.27 4810 - %ﬁimo 00 = 100 °
( )6. E{tﬁlj\%&g 0.02 -
DEUERINH

ZELtBEENMENAEFRERDP » FHKFITLUBREED EILALIS
84 10~ 100~ 1000---10 8918465 » S F L =/N\EBIH L
gﬁ o

BRELBERT » WABEEKRLE  NEHEME —ELLLE—/ZH
{Ei% o

MDD FERLUS S » AITEEEH/NELIETF
I90: = > FHFIYE1 2 =05 o
151 40:

Slw DN

s FAP94E3 ~ 4 = 0.75 o
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BEEMIEIRE » SAEREREERATNER » A2 ESH
REEEBB/NEIE? SEI22H » hE L HEEERA/NE
B —RERBIR/NE »

BI0: - > —BRTEREEENE - FI0:

o
2

O YR BILAD Y
EREHY > TLUSH BIRME YIS « DU > EHFHRD
HENT -

Bl 12 - QEH - RAUNB 0.4 % - BIFEHHD 12 =
1.4 o

ERBHY - TLULABH MARE - o Ll—HEH -
Bg0: 2 5 FMFG7 + 5 = 1.4 2ALUGH—EERY -

N BT

(
(
(
(
(

)78 BB > ERE—ERENH -
)8.4& 2 LB/NEZE 3.75 0

958 > RFHEICAL N

10 8—EBR " > LBNEE 7.75

100

)11.5—98 o = 0.1212- KR o

sTEIERNHEZE 7 HBEE

RS NEHBFTED » WEEE?

BIA0: B MIREEI2 - + 0.4 x 2 =7 (RERIBEPMA D YR E > BR
Z1RR/NEE?



4 %1 F &8 | Hkae PliEE

R EIBBYNELREBE  —EELAREFBHF o
BB WREPIRMDE » B LLEER » BAFEIRRSEE
{1 o HKPBELEH HDPE I TLUIRRIBS/NENIEDS » KMERIR
R/NEE A o

SEIRBNE » AEIEINRE » STE LRIEEFRE - B/NEHS
g FIELEENS - Bo0EE - BERLKRIEEREN - BE
INEUR D BRREINETR - ERENRFAERE—S -

NV T

1212x2-03 - (= - 0.1) =( ) o
13.(62 -3 - C+=+2) =( ) o
14,2+ — (024 +) =( ) o

15. (1241 - —) — (122 =2 + 2) =( ) o

c. 2%~ 2 5L
T {E5% (brackets) | ° BIEETE » mANIEFEEBIL » FE@QINVIE

SRoh _BSE o BRPIMAERHBNNHERA - BEESL %
FeBRIZ N0 ©

3% /\¥E 5 (parenthesis) ~ PIESHE(square brackets) ~ AIEE (curly brackets)

BHRMANBZBERFERRON T - SHRBRBEEE - R
BRIBANFERAUNG > StELEREFES T —BHEEZ -

AtEESREAEHUTR?EMBBUTEESTPHF:

WRSKRIFEAIEEERA > HIFRBESEBFFY > TR
oL BBz » E£E 500 JThR » ELI0BRE BFFYHEY



1% ~dics e PEE 45

RIZHVEE » SR8 &0k BR

Il

t8 » F®TEIT BRI LABTTE
FESREIBEE o
MERERIVB N » [IERBRBVEBEGE > ©BZB/NFE
FEITHE  SRGTEMERLNBE - RE » BARBT » 28T
Vi HE SRV B R ER ERIE » EREN FOE —iRTRERENR
BORA » B FEEOTLIERE -

=2i8 0 oI o

EBRIEE - FOFESRATBVN0 ~ BERBEASR - HZMLB TERHNF

!

D10+ (5-3) * W\IFHELEOXF 107t HEORAES
T ETHEO8N 5 TART 3T o

@10 — (5+3) - $5I5H 10t » —H{FT 5 TH 3 7THY
b o

Q10— (5-3) - ¥BI8H 10 5T’ [RAE(T 5 TAIREE T LU
DT 3 7T 0 IS T 10 7T

AEF—EFFP - RABRERAEZNR > BREIERERE » K
LR o

AT EETE?

SIS 2N0RNEZ2ORVEBINERREBNT 37T NEHE
OXRGTERBINAEZOREZINERE KD °

FLEMEHE + (Z+R) =B+ Z+A
RB+(Z-A)=P+2-7&
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F_EFFP - IBHERBSHH T 5T 3 7T > BeJld
BREMT 5 TEBH 3T

FLIBMEHE - (Z+7)=B-2-&

E=BHIFD > BALITLIAS —BRERRE 151545 10T
47T 55k > HTRETHEN 3T ALIEMAR10-5+3
FLIBMSHE - (Z-F)=B -2+

L ESBEEROER  —TRAFECHEE - HEREER
A R ESBNEERRES BT R AR -
HEREEEE—ERY%  SRERNARN « BRhHERE
SEEEM - BENERIE? T-BANRBER  HERSRERE
A ETBRIER ALK B ©

NEGF:
1.10.35 — (0.5 — 0.21) =( ) o
2.(1-H- G- = ) o

3.1.52 + (1.14 — 0.66) =( ) o
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H = 3% (Exercise for section 1)

7
20

§1.1(a)

Ut |
N

X
2 1 11
b)5Z-C+3)
(€) 9.2 X 0.5 + 0.2
(d) 2.4 x 0.7 — 0.2 x 1.25
(€)322+02-02+—
25
§1.2(a) 6.28 x 0.2 — 0.2 x 1.28
14 11
(b) 5 x (+ )
(c) 999 x 0.5 + 0.5

(m§x175—%x125+075

(®?+02+§+02

§ 1.3 5Tt F5IFRM:

D
INEK 0.5 0.25 0.75 0.2 0.4
DE
INEK 0.6 0.8 0.1 0.05 0.01
D
INEX 0.06 0.35 0.45 0.95 0.04
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§ 1.4 STRY T HIRHE:

DE 1 2 3 5 7
8 8 8 8 8

INEY

DE 2 4 9 12 1
25 25 25 25 40

INEY

150 (1)~ (48 + (- -8
(b) 2.5><(1—52><11—;)><(%><Z)

§1.6 5—ELTHEER 18 A% » B—HLEE 0225« F
148 A% EREMEESOANE  mEEVERS

—HRK?
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A

§1.78—®F > 2RN - B 2425 #HBTERN

PRH?

§1.8 E— BB TARWABSREABN > TEIRH
ABEZEAY - BTH 24 AERE > BRZERES
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RAATHERBRERE > 2.2 FHBF » 76T 220 T ©
=fikAT  #HENARRE? MRZHAREES A
o BIES8

§1.10 FRESRZENHE » 953 SEETLUSVED 75 3R4E © ZREREEIME > &
FI—EEBE 1951 c RAER  ZIMEHE—5 F
BIBRAAREN > TR ENRRERBIER T » 20 DAY
ENH B 3RAR?

§ 1.11° Tina bought 5.25 Ibs of yellow pears and 4.75 lbs of red

pears,where both types of pears are $1.99 per pound.How much did
Tina spend on pears?

§ 1.12 If 5/7 of the cookies had been sold and there were 172
cookies left. How many cookies were been sold?
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2% R opd #% (volumes of prisms and cylinders)
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b. & {174 & # (surace area) 27 §8 F# (volume)

KM —EERBEF  EVATZLOEEREATJLUEERE
B EEEFXIALEZDRAR?

A—ELEENEEP » EE2REREIAN LT AGrIREE LR
BARIR > EBVRBEARIRIE? ERERBXTLITMHES D A?
i —@HFp - BRILMEROERE @ X2 - HEBCHE
F o EBENMALERESHNERE  RE REE] I8
B BB AR o

OXEBRETEHEMSLBARKEE » BETEBEEZE
HERIZEZK > BEIBNEEP - HMAZLITLIBERIINR
HNEBEXTEBUEEEEZ X  SEEEHKMBREE -

SLURABAR/LTF HMSEEERREDL MEABEEEL -
HEEOEENIRER - BRRAEHREE -

Bl E—R5% 1049 B5ARRE6 A ° 44

EmEA10x5 AZ2mEEmia 10

HABIE210x 6 &5 X 6 * 6

REBE:(10Xx5%x2)+(10x6x2)+(5%X6X%X2)
=100+ 120 + 60 = 280 /NS ©

ORB:ERREBINS—ERTERRNNAGE » BMERBZAIE
B B BB - K —@18 - AKX - RESEEGE
SJLIEMBIK/N - ERAK/EBMBRENAHE— » NRABEE
HERE - SREBIUM—EAZRBARERM—EIER - B2
f& o



¥ 2% RO E 65

e cEEMOERBEERLIZFENSE  EVBREEH
PIEBIIKR/N c EREMIKMBIEILL » BERLULAD EFE
2 BRABIANYD - EERLUNARASM » BREABIAN
R o

Bl E—EE 10 A9 - BES AP TIe 6 A9NELAE - CE®
BEI0OX5 Bigitaikt » 87810 x5x6 =300 LA "%H °
352 H 58] H (g8 - ZfSKEmBERF  —
BsSEE » —ERRBHE  JEBEELLEZ?
BEABKERBBFR BLIEE 1 0PN EHEAE » SERAB
500 ML ARHHNETE » MEMIRE 510 A A N”SHBSHE °
WRKMIEKEESRDPEME » BREKEAGSHNETERD(3K
LFSERBENAH) » SEMRILIZE T 500 E2HHIK » FBiEHR O]
LIZE 510 2F89K » FHMENBEBETLIEZ DK FHES=S
2500 5102H -

TEBAHFP » (B SIS FrreEENEE - (82 2
B FeEE=E » MEBREREFEECRIERE -
RN SNEMNER » s EBEKIEE » FIET 1000
YARND=12AFH 1000 EA=1AFHA 1 IANP=1Z=H

K~ 00

c.c.)HEEMIRE o

P L 12m /0\5”‘
1. 68=ARNAE > FEEE 7 HEE:

(1)EetE=E( JALARR o

(2)REREZ( JFEARR ° 13m

ol

—

m




66 % 2F Mo

2ERFBINEE > FEE THIME:
(1) BETE=E( )T B RG o 4.5¢
(2)FREEZ( VEH RS o m

20cm

3 EFTHELAERINTE - ERIERE( )ILAR

Vil 8cm

9cm

18cm

8m

A BB MRENEE - 5m
R ( \ARAR o

c. FlHLeE & fh & 4 7

LIRS ATESIAA PR T BORIR - FRSREILE - ARE AR » K
BPRHEZ BT LSRG T o

LETU EMEER - SR TOREREDEN - METER
BEKFKBCES » 2B KPR B EEOIHRIE -

SLEZERRNER  NAER—&% » SULELRERMNE
1o MERY —EKERERRRELES @ BIRERE -



$ 2% LM 67

BlaD:FER 5 A0 ~ S 10 AN HIERE - BREKEEES X 5 X

314 (BAK) » T LESHE:S x5 x 3.14 (BER) x 10 = 785
THRSG °

BENXRERE » PkmEln > £ TMEBINABEKR —BNE
A e

B0 T2 5 A9 S 10 A989E4H » KEEF&ES x5 x 3.14

(BR%R) - ABHESENEREES 10 A% » REENNE

N——

A2 x 5x3.14(BAX) - FURHHEEA2 x 5 x3.14
(BA) x 10 - BILMEIRRS x 5 x 3.14 (BAK) x 2=157

(EFEE®)F02 x 5 x 3.14 (BAX) x 10 = 314(EH) » £
157 + 314 = 471 /NS ©

__ocm
| —>
]Ocmg 10cm
S~ Bem~
N B 11km
1 EERIEE - CHEER( LHRS |
. REHR( JFH R o C 7>

(BlEIZ5EIU 3.14 515)



68 % 2% itk

2E—EER > BR 3027 > BRE 900 IIART > ERFE
| )R o (BIEZEEEU 3 5 5)

o

S ERRAEBRAREER  REEEER( ) MESER

BERY( )

4415290~ #1: 4 29oHNEE » EEEE( VA
R BEE( JIIART  FNER( )AOWIELRE
8518 o (BlAZEEU 35 E)

SQDEXEE_ﬂE%ﬂ:;*Iﬁ% ? Eﬁ%ﬂzﬁﬁ 1600&’
B( )FHRS (EEEFL3EHE) 6em
(BEHEERSEERXES)

15cm

AJEBERR( JXLART °

d. %8 E ¥ 18] (development drawing)

BENER =Ai

O
O




%2 F ROl 69

LA AAKE

2

\

K L

N B T
1.EEE—ARERE: D E H J
DEDE EEMEE( )
( )~ ( )~ ( ) ° C F G
QEFE ADCB ETHWAEE( )° M \

$27E ADCB EEMEE(

SFEADZE 5 D ~ DK=&

o
u)

)~ )~C e
* CDE 8 7 HIAMEREE

= ( VEB R



70 % 2F HEHOONA

2 MAEE > Z= AR ( ) acm /3

THEAS  REEE( \EF bcm | 4.7cm
10cm
RS o

SMEE > ZESREERE( )F R

AR BEE( JIIARAR o 4
2m

m

4, 5| LE R BH B 1E 75 fs:( )
(F) (2) (R)
(T) (7%) (2)

e. 4 & M hd G 2 A

EEHY » EMRBRL LERBLUEESRIZESREEMEHINME
NS > ESEESHRAENERNRBELAKXRBERRE - BT
BRI BRI 2L TR .

OHtER » FIEFERERETS—HRL  r R EFEBRK  BR
S EFsTER BB -
BREFINNOEZERENES—HEREL  MEBIEEREH
B SRS IBRINER -



2% HEORGg 71

OfEZzEH! » 2R —1HE » I2EX—8p - BEENELBIIF2
B S — RS0V F o HlAD:IEABIEDPOIZE—BHE - BEE
BHEEHE @ IERREEHEEEE LR B EI0RIZZAIER
S REEEHE FEHIMIEIZZEASHREE » B/\D °
WIEERINREE 0 FRIMIKREEI00EE » LERREFR °
Nl B

100688 —RAEBNOARIZE—HE // <

8m
'm

758 HEER )IHARe _4m  2m 12
Zm 2m
te]
2m 2m
2m Zm/
=2
2. WEE - —EFEFREEZERR T ZEC » AlE

B mme( )RS o (HREBN 3 HE)

3EM=ARE > —EE8AD  -J/5A7 - EE3I-A7; 7
—fBE 8 Ry~ ®3 RS *I%B%’Rﬁ » R E = AR
—E AR > BIRERERE( JALTT R °
& A REEER—EER( JROHIEF BRRVEETE o

Q|r

>



72 2% LA

R
INGESEE £ T RS » R RFITELBCIT » REIFFAFRREE
1% C:& R LE #h 75 2([0) A $E)

<

B
"B X SR MSRELNRRETERBEPIERMT ESK
FUE?

EXZ: \B

Blan:- T HhEBEE - mMEB(RME)REERB -

w )

E 4 v
B

REBB T HEEIEE - TRABP(RAARB)2ERFIE?

4/
aw

BT LIRBEEFERFTEZROING - RE » EREE LB
IR LIEBTFERFABNRTE - EAERETRE?



% 2F HROHA 73

H = 3% (Exercise for section 2)

52.1(a)E—EAHHE  BER 1709 » BER 374 1HDH
 BIE B R \EBRE o
(bE—=fiEE 52425 RE8AH » BRE 72
UHAR  BIER )R -
C
522 H—SARBOAE  BESTHME: A B
(a) B2 ACB F{THVEA ) i
50E CBEF EEMEA( )o D :
(b)ERAC TSR ) >
BACEBERRE( )

(OEEEBRZE 12FAR7  CFR6 A7 II=ZAREBRE
JIARD - EEALGTREH=ARNRER?( )
§ 23 WITE > T ITHERERENERE( )iL75

Qﬁo35
adm Z:7

9.8m 3m

524 E—ERSBRROARE -
HIEXEREE( )$ﬁﬁlm
R A JIHAR o

—
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§25 85— R iEE > KEEOA(BIHKA)R60° » HFE 14
RO ~HEm 1 29 - AEEER( VERRS > BERE

( )RS o (BEFHN3EHE)
§2.6 EEE—ERNEEE > figs— (2
BESF » EHER( 7y B
, BB VIIHRS o ®

(BEIEZ55LL 3.1 515)

§ 2.7 KHEAEYF > KEEIEA ° 2

TRt o 9cm
7.5cm
Z( JILA R © 22cm

§28 A—1EHk > TARET —REXNNHEIERE

MEERT > BEETIIHE: "q

" 10cm
MEBENERERTMNR s
(D) EFRNESRIGEER 14 2% > WET /
HFIEZE( VRS o

(c)AATRERIRRTEZE ( VIR o (BREZEFEU 3 5HE)
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§ 2.9 AKHAEREE °
5 JSERH o
4cm
4cm
4c
§2.10 RE#G—EABFEZEZER 6cm
BEATE—ESE > 53, 2.6cm
IR R HERER o 1.8cm
1.5cm
NABAT
AlERYAERE( JILFRG °

at: RFREEEF - UXEOEA RS TR - BBOHRIEE 7 ENS #E) -

§ 2.11° There is a rectangular swimming pool is 21.5 meters
long,8.2 meters wide,and 2.1 meters deep.What is its volume?

§ 2.12* Tom’s fish tank has a volume of 2800 cubic inches and the
base area of 500 square inches.What is the height of the fish tank?

FL:30T (inch) » E#EE L n » 1 =254 2057 ©
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§ 2.13* A cylindrical pet carrier has a radius of 1.6 feet.If the height
of the carrier is 1.2 feet,find the volume of the pet carrier.

(use m = 3.14)
EE:BlR (feet) » EiEEAET 2 1 ER=30.4 17 °

§ 2.14* Find the volume of the composite ¢~ 4.2in

solid shown. 3in

7.51n

9in
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BENRE REERER LEEEHE—E8EHFLAFNE
TBE  AREERRRTHT » XS EEE) - (RR1EE
BB TEERAE?

fETE ~ INEFVNGTEFHRKE 100 ARFBEE » [F—5EF
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SHREZE LR PIER—FE » REMK—/E o ] /NIHER -

BAPI 90T ¥ E SELL B TR OB? REIHEE « NEE—REFREBIA LMY
R LEE R I

a. FFF ¥ (time) £7 $E 3 (distance) =8 i+ # 3%

EEEEERE » MR BEFEFER - FEREELZ

T PrAEEYD - KRB E(move) IR < f20:100 AREH »
B 10 MEIARGLLHR 12 MEBIAR - AR » ERHEET -

RESRBIERBRIA - EBBLEERD -

Hlh0:100 A » PIFRM T 12 #E » ZIMRW\T 15 # » FRLIZ
B LERER o

13T E(shuttle run) » IEMTEEE A FI B » A BHB R LIMBNE B
—25 B 2#TR0O A > FE—itd o

ELEERIEZ D » FHPIEAFREIFMERE RS PILLE » EMIBRETE
BERLBEEERANAR » —FEEBLFE °

BFR R A0S ALunit):E ~ B B~ B ~ BFhn) ~ 9m) ~ Be) =
P (ms) o
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BBt AMSEAL AR KM « ARM) » A% (cm) ~ AE(mm) °

& B B = B ) # =
year | month | week day hour | minute | second | millisecond
NE nR UN) NE
kilometer (%) meter (£) centimeter (£) | millimeter (%)
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g H i H 157 i) ¥ ZFp
1= 1MBR= | 1%¥= 1= la= I/ heg= | 1548= | 1=
124a /| 3-5# 0238 3653, 245 604 60F» 10002
366 R E

23 H (km)
—/NH =

23R (m)
—N R =

247(em)
— Ny =

ZNJE(mm)
—AHE=

1000\ K

1004353

103 JE

0.1,35%

ERAT/NSESHE » FEUEIR L > BEEREESHEN
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cC—

[E18 o

(1) == B —D=_ /N —B=_nE-

(2 —RE=—2H—AH=—=2nAR —AR=——72AB

10 100 1000

NRBF

(1)/©NR&FTT 45 DERIRYER > HERRTE T ( )FEY
K > EHEETE T ( )/NEFRYBRFE o
(2)X&H 100 ARTET 16 ¥ > #HER T ( )73 > By

=HEERT(
(3)3 /INBF 15 73=(

)INEF ©
)/NBF o



2.(EEIFTERNR 1271 2R > HERE( )
NANE
(2)—1% 14 RHE > BHER( )RR > ( NER
(3)31.25 ARHVEERE > HERZ( VRE(FER/NR
) HEZ( N
3.—K 24 /B ( V¥ > — )53 o

4.(1)RIEL 10 D EEIZ5E 1.15 DB > HE 1 9EIZT
( )R FrBYELSR ©
Q)R 30 PEET 24 RE > HHER 1 DEET(
R o

‘%

P

b. i# F &2 T }2:% ¥ (average speed)

EEBRIE > i 800 ARTET 4930 « S—BZRE >
1200 ARTET 6 9 20 ¥ o IP—{I[E) 2 RF LLEROE?

s —RIERD » HIETSVER » REBEARET—EAR
LEEIRISHIIRIE © ISP B B ERIIERERR LFABTE_LAYEFRA] » BD
itk 3

B S

FRBE » S 100 ARBT 10#

» EEREHRNBFXZMHEZRIE?HME—EHELH

s BEAARPEH = 10 > 558 10 REFEED?

Rig —WBBHT AR S 10 WEIIFES T 100 AR °

KM EEES

— BURED [10) A& [REJ o
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BMEEY L » FRE—ETFERTFE—EHRRLE - LIig 400
AR > CTRE—FIGIRISR » RRMIEBT —F » HENEIET
—R BERATZR  XBTRT & HABBHEERRA
1889 o AREE - AERKRAERS » HMIERSFRERERIG[ AR
s B AZRIRER - SBRERIZEN o FRILFPMFABIER - B
ZLl [TF1RRK | RBIFLLEES - B7E BaifE XM ERHER
K o

EEHRE  AEYMT c TIREBAEKRR 0 BN
[ER) EAESH(EERIBREREHN - BREHN) » EHUR
ZNERTETHERENERED) » TRHITRR - BILL - #HX
EAESRNZREPRMERRABERIERESTEFIREK » B

RESHHBERHMBRREZTFITREK o

RLE > Fi9ERK = » (average speed = e distance,

bl | total time

. BERBEESHER AN EHRMBRLIBRERFRIFRE
MARLEREIBRIERE - LI ERBE—EERBLESARRE o LA
NWBENRE B —VEHZ VBRI —ERETESVRR[E
BHEER > TP LILLBRBBUTERENF » —WEE 3 AR
HM—AR 0.2 MH—AR 0.25 ¥ » HETLISRA NEEHIE
EEBRRERRE LERE D ©

S SEFRIEESRERPBEA [3EE (velocity)] —5a) » BIERE
FERRGRAFRIS? HECMARRITANERRE » [REENTEYH

[EERE | BUBRHIRM » 7EREKDPRIIERE » NERWAR S » bRk
B E ERN0FREEIRD) - MITRE PVIERE - EBA O - B
AIPEER > ROJLIEME R —1BIEM °



RRBERE—EHF » EKRMIVER 10 MIEBEXR S5 BEH
o] LA L& Y052

WRPE1ARIET 1IVANZE 1 LAEBHET 1 » [IVTIE?

. <o i@ s . IBEE
MEARREZ 1 2R o BHIAZLERER » BFBRRNAIN= —

 FEIERE 1 B9BR - BASKERHBREER °

EIRETE M2 0E? /258 » MREMUNBERE - WRIFFIHNAERE
AR » AREPRF L] LIARRLERIRE T o

R SHFAIANRBIRRZRMTERNEMLELRBIE? B2
ARRERRPRABLEMN » SHAIAFERRPFHHESELA o

BEHFPHP » —RARTET—¥ » PROERBMTE "1 AR
/i BE "1 mfs e
CR—REBRT—W » BRFMF1RE/MHZE 1km/s o

EERRRHLURNMMIFEBTEML TN BB EMR > 3
Af#R - BHEBHZHD A THTRE -

BPERVERASE » AR - 0F « WEFF > SEFFTRREBE
TR N IR o

R e ERPIRBEEELUNGRST » Hla:—/NFET 100
AR BERFRATR 100 AR /N » FHMEHREHEFRZ 100
/NN

Blan:=@/N\EEBE T 12 A2 > AIEERZ 4 km/hrfRKR > T
EREHNEHEZ 4 RE -
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Bla0:—ERE T 7 AR > AIFBENSRIE 7 AR » ®RK 7
NR/5 o

5190: =% 900 AR - RIFBEMFE 300 AR » REEE
300m/s °

Blan: =% 24 NE > AR 12 2B » F 12km/s ©

SR (speed of sound)(sonic velocity) * BESHIRINZEE » REZEM
MEIEP 22N PR T —6) (151 ) > PRELBETR
ZRZTLIBEHRES »r ERESNEEFERR o

EEESTH - AE - ER--FRERFRFZERR » ANEE
¥ 340 AR o (524F 340 m/s) » WRPBFOZ48EE 340 AREF »
BB ENGEE CERER T RO—a08FR] -

MAREEZRR MBEEsupersonic)] » AR ERLLZREYER
E2REY > BHFIEF T LIBIFRB SR o (B RBHES REVREK)
B—ERREEBIGZ &R (speed of light) | » — 2 EEDN

RE > BRI 300000000m/s * KEEW 30 BAE
(300000 km/s)& 7 ©
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1. (FRIER/1E/F )
(1)EEREAEET > BEFRTERVRFEEER » HESH( ) °
(2)FRTERFE—IR T > HEBIR > FBENRVEE B ) °

B)EE—HRFERT > KEEER > BEIRIERE( ) °



2.(MEBEET 620 AR > €7 200 ¥ - EEERBEERE
( NAVEZR
(2)&fETeT 7.5 B/NE > 17T 300 RE - EMBVERZE
( JRE/BF o
9 REMER 5 BIEE( km/hr) ©
=T E8 800 ARHETET 3 73 20 ¥ » FHEZ( ) BR/5
» R B B R NS

(I)FTHEIFRE: TR RUB /K 40 REHBEREFE o JWIRER
FUOEBEISEEE 100 2R - BEEMRRT » BE( )
DEERRGEEREE -

4 FJRERZ 340 m/s  BEBAEELCER > £ 0.0016 #HiE

H—FEES » £BEHTHNFEEREL 0.6 AR > AELE

AFTH—ERHREF( )m/s > ( VB EERE o
(FHHERT LA/ ARRIIX)

) ENEERIIEEEE » BRSERIET ~ 8/Z  ZEFELET
EE%"‘%%” Bt EHIE 1 e EE)HIIE -

B

S5/ MNEREFBERHE 630 AR NEEREERTET 8 578 20
o RIRET 90E 10 > ANRTFIHTITREZ( )
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e O TER TSN  RARTHRES—TOEY > B

VEALRIBIRRER o

CE—FBRIRERE » 5~ BRE L ERNAFISA EBEIEEH
FHYIETH » BEZMTER? R >0 EMBERE o
MEFRREMZMER? REE » RS RRDPHEFR(DR /M)
s (km/hr)8k(km/h) - EER LFZE 30 » EBREES/NEF30LQ
£ > WL 2UWRLEL 30 REMFYIER TEE—@/\ESTLIZE 30
NE o

(GEER LN RITESHLEBNHRERIE—LL » SATREREHT
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BFERL  BREEH IR RESEICEB o

flEEBARERSTFRNRT - EEBAIZRIEEFRRS o LIE
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PR R SRR PAEE - 30 NEE% 7 7.5 R E » MUiEHERYSRE RS
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2.(1)=EBFGEEE 330 RE//NE > 2dtBIFHTET 40 &

> At BF TTEERE = ( JRE °
2)eE B @M EIREERZ 130 R/ > ERBEURSEN
iE 0 39 RENBREREE( ) 73 L AT HE5E o

3BRHRE 100 AR - WFURERH 56 ARTET 321
ERELRRREN T WREREE( )9 B
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= f} 4 s
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""#(%)/J\H%F*WM# » 1 INBFER 60 N« 1 D EXERN
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Bt - #EHRHKSE:

1
1 22/§ = 1><< T > DR/
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= 1X ( 100 ) 2 //Az éﬁi
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1
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(U FEEELNEET » BIFEUSESUET)
1.(1)600 km/h=( VRE /5 =( VAR /H o
(2)6 /B =( JBR/7=( R/ o
(3)0.92 RE/#=( JRR/F o
(4)420 AR /#=( VN /B o

2 ERERFE 30 REMRE - HERETE( ) R B R s
B o

3.FER TR BLERIANTIRGR 432 RE © | » ZFR:TIHRVAFIF)E
110 2R » BJZBYARTRFERE ( JRE - RBI( )RAE]
FRAFLLER ©

4 ffBsRES > EIRE_E B TER (knot) IRRT - — BB RME—)\
BT ERE(—EE= 1852AR) ) — RS
( JRE > Bl—EHIER( VAR /B o
(FEEUEAAZ/NSERE=()

B AW EREE - 3T A EMIITTEE » KFFAT LA R E]
EEERETT LA - ITERREREAR TR T » LU IRa BRI T 2 RAIAE
F o BELGTEHE - B —HEER A LEEE L - MR LER
B & ~ BATEEFIE 10 BIE 30 B °



c. EJ F FEF'B'(m BALR A G L ERFRAEE A BRDORET LALEY)
EEMEBEHEREKR » BMEBRETPERRRBRSRILUSE
5109 » BREMILINEB S FHERNERIZR » RLOJLIE
HIERPIEREE 500 ARIMIERBIEZS AR » RAREGNIE
BLEER 50 AR 10 NEERIEZENNE o

SRR 0 BB - —EMARABRERMIT » BEMAL
RERANE - BlFREEEFHV6FRIANE) - HI90:100 ARER - S—4R
Al EMABRERMIT > MAERAHSHIE >  MARE—
MABEMImERNPREIZ LHEE - EMENEER—K I8
EmimEiR LRI EP—@R8E - FR—BEMATE—R(E5E
BB RERMIT(IRSRAE) » MASBEELE - GEE=HHMI
EiR LiE)

GRS

1.2E2R FARE > B3 FHIBAE M AR HCS » WA REERE
0.72 RE > thU#HE 2.5 RRET 4 iR » EERACER
HEERRR?

~

fl

2 AEMZERKRELRELSET » —FRER > MEEEN
ERFIE o HEREUEHRE 45km/h §iiE « ZERIL 60km/h 7
i 0 300 MEMEBEREZ D AR FEREsHER EEREMENE)



SEFERERL > [{EMFEE 0.6 RE > MARKRE
AHE o fEFHESWIE 1.5 AR ~ FEFFAESME 1.8 2
R RPN EWASHE?

R MEABES B AIUERIKILL OIS - flal. 288 —5 « AEBEH—
T MABELLE 1:2 » TEERBEAILUKRLLAIFD MBS

AEFEERLE > NNaf/NERASTHER > MABRMmT > D
ImFRERIX 0.8m/s B9 kAl ~ NEFHIIRABZRAIA 2 m/s
HUSRZSHIRE - 587 40 MR > N85 > ek NEFHIER
BZR? (A& B SRR & mE A Z E RV EEEE)

R
REPWR » BES—BREE—EYRBIEHVEL o BBE » REFIH
S [—RiE) B9 - BREYEVERE (ER M) 98?3 MB
BEETD  REHMIBE o HIU0:—EREFREIFMIzT S DIRBREIEHSTZ « —
BIFE—EELE TSOHER » HPARKRRIBEESR » IS
BMIZT SR/  EtvASTHENEE —UHAE RHAE » HPHF—E

BrRIA—SHERBENREE [AxR] o

BE » RREVBARMEBRGER > BEAABERE_NLTREE—/\E -
ftbBYREK 15 NE/INEF » Bl —F b T=?
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B NG o RE 15 AR/ Z/NEFHER 30 A8 —FHET
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—BZER - RIFEIEOERT > BP0 E 2 REERE2GRINIIRE
#EBALERA L BRI BRI 2 3RAIN0SR) - HMEZRE REEER T I
R > GI0—FORIEZIRT 5% » REBR T REREHLEEL 1.5 2% o
Bt - —EZERBOER= > = 7.5 A5/ o

¥E20ANDERR ' BEACHEBBAPERTHRNEA FE—VE
To5@  BEREBHESRIE » SHERIESSLR(BEZFRL
3.14 5t &)

EESEBET2H » ¥E02AR »HE—BEREAA0.2 X2 X

314 = 1.256AR * AIREBBRRA- - = 6.28 AR/W o
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H = 3y (Exercise for section 3) (s w1t 7 » Mg ot 7)

§3.1 (a)fI&E T 9.2 /NKHYE > HETE T ( )7 8
» EHERE T ( )FDIERVEE o
(b)1.025 Ry HEHER( )RR > SAEER(
JRE o
§3.2 (a)MNET 9 RE » HEZ( )km/h o
(b)ERHUE 75 R ERIKERM » £ET 0.12# > ER
ESEHSREZ( NAVE 2R

(OOXEEILFEHE 2.7 RE - gEeT 1 /MK 15 0E
€T 22 RE®R » BERNIAFT » RERERITEXTET
1.5 /B > SRERERFIITITEREZ( )km/h o

§ 3.3 (a) BENBEMRELDE 50 R RERRITE > ME/EFH AT

T VAR o
(b)idhth 15 DEEET 3.2 NE » BEENELRE 3 NEE
2( ) EE o

§ 3.4 BB ZMEERE 13.2 8RR » NZFBEITELUEZSE 4.2(RE//)\E)
RS > BT M/ NRRBEITERENRRE > RIFEEELGE
R ADE/NETITRE » WFRBIZHNERTET( )NE
( )58 o

91



§3.5 (a) I HBERE 78 DR > HEE( )RR > BiEE
( JAR
(b)108 X 5/# = Jkm/h e
(c)0.53 km/hr = ( JRR/5= JAR/# o
(d); DR/ = ( JRR/% = ( )R/ o
§ 3.6 Bifi(Mach) » EZRMEL - FN—BHAETE > =5

ML BRI ZfE o BEER 5 Btk > BfIBESEE

(hypersonic) ° (RERIRFERVERRE 340 R/ > BlEmE
& 5 EHAIEREZE JRE /N o

§ 3.7 BB LUK 54 km/hEHEEICH > BRY +#8E » EF&E+
Wiz E T ( VNASL

2 ER G S EFERED » [TEERF BRI °

§ 3.8 E- AL LEFRITHIEE— AR - E2EER L
BIAD MBS AT > REE R AR e R R
—i2 > IZ—E8F—ERFERIMRIRHERNIE - MEEIR

Bt 1

< BV >

=
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o
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EN

[ EHENERTEER SRR - Hh—(EEEmRE

[ FTRRELERE - ERLURE 3 RE /)i > 20 9
ERETHIARE > EERIFEREERTE 20 0ER > HLUE

=5 RE/NE ITREEER > BIEHETREETE( )7
HEFReiE LER o

(7. B ZVE L RALHIIGIE » imam KAN BEESRFIE L) » 7@EHULTT %)

§3.9 t Y BMitmAYFERAREZL > 2 RIAFIE 2.1 RR ~ #3 1.9
ARARIEEE > MAFRT 77 BEREPEER > Bty
A JRRE °

§3.10 RE - A—BERREH LS 5 NENMAEK > F
S LABELL 35km/hr iREFi{E ~ 5B BILEEE 50km/h
NITE > BRRRRNRE > B FEHNNRER )

Bz o

£

§ 3.11° Albert drives 3 hours at an average speed of 50 miles per

hour.Then he drives 1 hours at a speed of 65 miles per hour.What is
he average speed for the whole trip?
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§ 3.12 Cathy walks at a speed of 45 meters per minute,Sandy walks

at 55 meters per minute.They start walking from the First Market
towards the C-Bank at the same time.The C-Bank is 990 meters away
from the First Market.How far is Cathy when Sandy arrived at the C-
Bank?

(PR R R 2 LGREE 12(RE//NE)FZ R 2.1(AR/#)—iER
& 400 cREES > HIRFEZR 1600 RRAFE( )2
(WA » EMATEHLUERESRRETEA » AH
RIZEES( JEIRFEEZEE -

EAEE T REERHE - B « HIHIINGE - — KRB EAT BB A TIE7
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% 4% A8 F (benchmark)¥? +“ #i F (comparison)
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RO LETRYET - 2 MBLETE o
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FE - SRR 0 BERMEZE » REE=& -
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§ 4.11° Jason want to buy a cellphone that is on sale with a 20%
discount.If the sales price is US $168,what was the original price?
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§ 4.12* Kenney got a 15% discount on a sweater and a 45% discount

on a coat.If the original price of the sweater was $100 and that of the
coat $80,how much did Kenney pay for both items?

§ 4,13 David bought 4 fish burgers for himself and three friends.He

used a 25% off coupon for one of the fish burgers.The total price,after
the coupon was applied was US$8.25.What was the original price of a
fish burger?
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§ 5.11° Jennie and Paul checked a 120:1 scale floor plan of their

new house.The dimension of their bedroom in the scaled plan were
3.4 cm by 4.5cm.What was the area of bedroom in the real world?
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§ 5.12* The scale of the map is 1 inch:1.5 miles.Find the actual

distance from Ato B. (7 5 4% 5 8@ 320 5 2 4 3)
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9590 92 6572 100 80 82 78 88 66 58 7291 76

7090887882 88 986256 988291828596
Ay BRI R » EHREE -
DB |59 DL | 60-69 | 70-79 | 80-89 | 90-100

AE
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6
4
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0
59537 BLTF 60-69 70-79 80-89 90-100
§ 6.2 FEIKIE FYIHiETE R » & HRER iR E HEE S E (k) o
EE WF | BER | BE | BHE | KkE
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§ 6.3 TEIRERKF/HLET 1991-2020 F%KH#E 12 @R R
TR - BREERECE THIEE:

()BT R A G5:( )8 e
(b)—4F 2 FEIH K T B B B B AR ) o

35 29 28.7

30 27.3 ' 26.9

25 224 21.4 7 23 21

20 154 157 1777 17.3
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5 (CkT& s - & T80 22 4°C)
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—RB =R =R WR AR A~NAR tR /AR hAR +A +—RA+=RH

§6.4 TEIEMAERPEBRHEHEERNHE > HEKBEREARE
& FHIREE:

(AR )|
13%

(a) T EER P = ZAARVB R Z ( ) > REATHRVZ(
) > B NNERFEAS T 2EBEHER( )% o

(b)ESRHEE LT 400 fER: » IKLLAIRIFHRRER I E H
( )7 o
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§6.5 TEIRMLFHEACRERBEHEN > R RIGEK
HEME R ESE -
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&£ HE 46 B Re

§ 6.6 FEIEFMERERBEZZERTAE 30 98 » /K2 10
781 > 1R#R 2013-2016 FFERET » 7-12 B IR
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§ 6.7 & EERR B FRFtat 2021 £ 1-10 AEKEKEEZKE FZ I
Bl > IR R o FRIKIREIREEE T5HEE:
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§6.9 TEIRAMURFERERMA » BEH LERNEFHT -
SRR R B SRS E S TR o
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§6.10 THREVMERASHABRTR > RBPELDER
i & ol (E iR R B R R O & T 5 o

BF 7N 7 7 H H H

(£F) | (FF) | (&E) | (£F) | (FF) | (&E)
AE 120 101 | 180 84
Eot(%) | 12 10.1 27

(a)EMEERZ A EHRIZEEHH( )BY( )
(b) EHR/ SRV ERBA B EHH BRI AZGE( ) °
(FHiEZ 4
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§ 6.11°* The following graph shows the number of fish caught in a
day. Use the graph to answer the questions.

Fishing Results

O B N W & U1 O N © O©

4:00 AM 5:00 AM 6:00 AM 7:00 AM 8:00 AM 9:00 AM

(a)What time were the most fish caught?
(b)From 7a.m. to 8 a.m. did the number of fish caught increase or
decrease?

(c)Were more caught at 6 a.m. or at 8 a.m.”?
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§ 6.12° The town of Albany collects trash for recycling.The circle

graph shows what kinds of items are collected.Use the graph to
answer the questions.

Items Collected For Recycling

Other
12%
Aluminum and

Tin
15%

Plastic
39%

Cardboard and
Paper
14%

v Glass

20%

(a)Use fraction shows what part of the recycled items are plastic.

(b)Of every 1500 items recycled,how many are glass?

(c) One quarter of the items in the“Other”category were batteries.
If batteries were showm on the graph ,what percentage would

they represent?

159
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§ 6.13* The following line graphs show the number of BBQ and

Bacon burgers MBurger sold from Monday to Sunday.Use the
presented information to answer the questions.

180

160

140

120

100

Daily Burger Sales

160

\ 140
120

110

150

82

148

128

95

75 80 y
80 3
65 7
60
40
20
0
Mon Tue Wed Thu Fri Sat Sun
e BBQ Burger 160 110 150 75 80 82 95
Bacon Burger 120 140 82 65 65 128 148
\
"Ot
BBQ Burger..51.5
Bacon Burger...52
o J

(a)What percentage of total bugers these days were sold on Saturday?
(b)How much did MBurger earn during these 7 days on their burgers?

(c)What days could the total burgers be sold over 240 in one day?
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I ’E‘- £ & f% 4 (problem solving in math)
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EEEEE - 2 [0 A Brith 2B AR ERIRATBEI8YE
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a. & B IE & (spacing problems) ~ 8] 23 B'| (geometric patterns)

BE—HRREEREEN » BLl—TE8 R (regulation)fB Bk » 1Bl
BEARKDE o BT LLERE [$8# ) B9A R » EEREZFEREHE
3R o

O%E# » HMELEBR - HENBEKLRRE - BO#ERK
ERERGEM » sBEkE—iREEA

B190:815F 5 BIEF 10 2 » AL EHFE?

KPELREBRETF 5 B#F 6 BB LHF? XIRZ 0
@ -

KMBEERGEEBLAET 5 BT 7 CBABSLHF?E
RRIAHF6 RE—@-

RERMBER > JTLUSEENETRENTNRFESH 114 -
SRPRELBESVH - BI6-5-1=0F7-5-1=0)

Rt - EERABoILIHR10 -5 -1 =4B8EHE 4 @SF o
SETDELRR D » O E/IDEE o

BIaD:AFMRARBME—EMR LNEE - EMIR(E « &E) &
—ERREL - TEMRLBMLEE=IRAER » I EEMERR o

HMBEE - SEEBPE—ERE - NBRHE-1AI2RR
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%) » BINE—BABES LB o
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AE > EERHFABER LME—ERR » IKARBE—ERER -
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MES _EARE » EEMERR o

MEL=EARE - EE=ERER °

KPNEEHFABERL - HEREARR » FEELEZVER
B ©

KTt LEslFEBEAI

SRR REREEKR—HRIKX/) - EfRRE=IERE-RBfMREH -
SH MR EREEKR—HRNK/) - BBRRERExERE=IEH

BZMELESPOESEREHEBBR? EAREBEH THERNL
B NBE - FEFF) BARRTEERARIERLS » |oJLUK
ZHORBEIZEFRIUET o
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AEBRERR(ESAEHER) » KA ELNERIEES —K
0g?
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EIRAK ~ IRE (annulus) » FEEIR » F—EBERIZELIBRIE D
FEEENNE » B TEHLEEIR -

Bl sREmEiRE EE—RRMERVET - BIeeNeERIL
BIFANO - &iFRER 5 ARLE » ElR—EH 400 AR » &5
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BEPRECERE - S5 —BRE[AE - RRKREFLIBRIREE
B E 2 FLLAIMBRIRIVRK » $HEEERRE » iRBE—EN
RERE  BRTHRMEARENRISEFB RIS - HFATLUE
o [BE] EBER » ZRELNED THE -

BETEHEENE - O.

Q. o™

00 A
(B2) (@=)

HMER  B—8#piE 6 ETENT —HHERR8E L1
0T —HE) o

HaEEEREAENERE  REBEARESVER?
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A AR
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BHPIEH - (B—)HE 8 IESTE -
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HPBE—EHF:
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S (E/NE 0 HRBZDIERE? E@HIFP > FPTHR
Bl BE—2) HERHER  BETERBINGE -
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B EAENUABBERE » BREIR:
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FEAhE
(B—)b » B—EHER=IRIELTEHAK - SRR Z2EN—HF
BERE « T L TMREER » B T&EEH—B -

SHMEBALLER - BE—)  (B2) ~ (B)ETRE » &6
BERBOIT o
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H eI LR

(B—)fE23+2+2+ 117
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§ 7.11° The pattern shown below is made up of rectangles.

(Figure 1) (Figure 2) (Figure 3)

Find the number of rectangles in Figure 8.

§ 7.12° There were 7 employees each allowed to bring along two or

three guests at a company Thanksgiving dinner.In total,7 employees
and 18 guests were at the event.How many employees brought along
2 guests,assuming that all employees brought at least 2 guest?

§ 7.13 A boat can travel at 15 km/h in still water.It goes 36 km
upstream in three hours.What the speed of stream?
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§ 7.14 Molly is twenty-one years older than Gina.Now Molly is
four times as old as Gina.How old is Gina nhow?

§ 7.15 Peter read a new book from Monday to Wednesday.He read

146 pages on Monday and 205 pages on Tuesday.On the average,he
read 180 pages per day during these 3 days.How many pages did he
read on Wednesday?
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